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S.No TITLE STD NEW OLD TERM Exercise 

  
Ratio / Proportion 

6 NEW 1 3.1 to 3.5 
6 OLD 2 1.1 to 1.3 

7 OLD 2 1.1 

R.S. AGGARWAL  
2020 Edition  

Page No: 426 – 475  

 

IMPORTANT FACTS AND FORMULAE:  
 

1. RATIO: The ratio of two quantities a and b in the same units, is the fraction 
a

b

and we write it as a : b  
In the ratio a : b, we call a as the first term or antecedent and b, the second 
term or consequent.  

Ex. The ratio 5 : 9 represents with 
5

9
 antecedent = 5, consequent = 9.  

Rule : The multiplication or division of each term of a ratio by the same non-
zero number does not affect the ratio.  
 
Ex: 4 : 5 = 8: 10 = 12 : 15 etc. Also, 4 : 6 = 2 : 3  
 

2. PROPORTION: The equality of two ratios is called proportion.  
If a : b : c : d, we write, a : b : : c : d we say that a, b, c, d are in proportion.  
Here a and d are called extremes, while b and c are called mean terms.  
Product of means : Product of extremes.  
Thus, a : b : : c : d   (b × c) = (a × d)  
 

3. i. Fourth Proportional : If a : b = c : d, then d is called the fourth proportional  
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ii. Third Proportional : If a : b = b : c, then c is called the third proportional to 
a, b 

iii. Mean Proportional: Mean proportional between a and b is ab  
 

4. i. COMPARISON OF RATIOS: 

 We say that (a : b) > (c : d) 
a c

b d
   

ii. COMPOUNDED RATIO: 
 
The compounded ratio of the ratios (a : b), (c : d), (e : f) is (ace : bdf).  

 
i. Duplicate ratio of (a : b) is (a2 : b2).  

ii. sub-duplicate ratio of (a : b) is  :a b  

iii. Triplicate ratio of (a : b) is (a3 : b3)  

iv. Sub-triplicate ratio of (a : b) is 
1 1

3 3:a b
 
 
 

 

 
Important Points: 
 

1. The comparison of two quantities of the same kind by means of division is 
termed as Ratio.  
xNu tifahd ,U msTfis tFj;jy; %yk; xg;gpLtJ tpfpjk; MFk;.  
 

2. The two quantities to be compared are called the Terms  of the ratio.  
xg;gplf; $ba ,U msTfis tpfpjj;jpd; cWg;Gfs; vd;gh;.  
 

3. The first term of the ratio is called the Antecedent and the second term is 
called the Consequent.  
tpfpjj;jpd; Kjy; cWg;ig Kd;DWg;G vd;Wk;> ,uz;lhk; cWg;ig gpd;DWg;G 
vd;Wk; Fwpg;gplyhk;.  
 

4. In a ratio, only two quantities of the Same unit can be compared.  
xNu myF cila ,U msTfis tpfpjj;jpy; xg;gplyhk;.  
 

5. If the terms of the ratio have common factors, we can reduce it to its lowest 
terms by cancelling the common Factors.  
tpfpjj;jpYs;s cWg;Gfs; nghJf; fhuzpfisf; nfhz;bUe;jhy; mtw;wpYs;s 
nghJ fhuzpfs; ePf;fpr; RUf;fyhk;. 
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6. When both the terms of a ratio are multiplied or divided by the same number 
(other than zero) the ratio remains unchanged. The obtained ratios are called 
Equivalent Ratio.  
tpfpjj;jpd; ,U cWg;GfisAk; xNu vz;zhy; ngUf;fpdhNyh (m) 
tFj;jhNyh (G+[;[paj;ijj; jtpu) tpfpjk; khwhky; ,Uf;Fk;. mt;thW 
fpilf;Fk; tpfpjq;fis rkhdkhd tpfpjq;fs; vdf; $wyhk;.  
 

7. In a proportion, the product of extremes = product of Means.  
tpfpjrkj;jpy; <w;nwz;fspd; ngUf;Fj;njhif =,il vz;fspd; 
ngUf;Fj;njhif. 

 
 

1. Find the ratio of 500 g to 250g  
500 fp f;Fk; 250fp f;Fk; cs;s tpfpjj;ij vspa tbtpy; fhz;f.  
a. 3 : 1  b. 1 : 2  c. 2 : 1  d. 20 : 1 
 

2. Madhavi and anbu bought two tables for Rs. 750 and Rs. 900 respectively. 
what is the ratio of the prices of tables bought by Anbu and Madhavi?  
khjtpAk; md;GTk; ,uz;L Nkirfis KiwNa & 750 kw;Wk; & 900 f;F 
thq;fpdhh;fs;. md;GTk; khjtpAk; thq;fpa Nkirfspd; tpfpjj;ij vspa 
tbtpy; fhz;f.  
a. 5 : 6  b. 6 : 5  c. 7 : 6  d. 6 ; 7  
 

3. Find the ratio of 3 kg to 750 g 
3 fpfp f;Fk; 750 fp f;Fk; cs;s tpfpjk; fhz;f.  
a. 4 : 1   b. 1 : 4  c. 3 : 1  d. 1 : 3 
 

4. Find the ratio of 1 m 25 cm to 2 m  
1 kP 25 nr.kP f;Fk; 2 kP f;Fk; cs;s tpfpjk;  
a. 8 : 5   b. 1 : 2  c. 5 : 9  d. 5 : 8  
 

5. The cost of parking a bicycle is Rs. 5 and the cost of Parking a scooter is Rs. 
15. Find the simplest ratio of the parking cost of a bicycle to that of scooter.  
xU kpjptz;bapd; epWj;jf; fl;lzk; & 5 NkYk;> Xh; ,U rf;fu thfdj;jpd; 
epWj;jf; fz;lzk; & 15. kpjptz;b kw;Wk; ,U rf;fu thfd epWj;jf; 
fl;lzk; ,ilNa cs;s tpfpjj;ijf; fhz;f.  
a. 1 : 3   b. 3 : 1   c. 2 : 3   d. 3 : 2  
 

6. If 2 : 3 and 4 : ____ are equivalent ratio, then the missing term is  
2 : 3 kw;Wk; 4 : ___ Mfpait rkhd tpfpjq;fs; vdpy; tpLgl;l cWg;G  
a. 6   b. 8   c. 9   d. 3  
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7. An equivalent ratio of 4 : 7 is  
4 : 7 ,d; rkhd tpfpjkhdJ  
a. 1 : 3  b. 8 : 15   c. 14 : 8   d. 12 : 21  
 

8. Which is not an equivalent ratio of 16
24

?  

16
24

 f;F vJ rkhd tpfpjk; my;y?  

a. 6
9

   b. 8
12

  c. 10
15

  d. 20
28

 

 
9. Find x and y  

12 : x     =     y  : 4 = 8 : 16  
x kw;Wk; y-ia fz;lwpf..  
12 : x     =     y  : 4 = 8 : 16  
a. 24, 2  b. 2, 24  c. 18, 3  d. 6, 8  
 

10.  Which of the following ratios are in proportion. 
gpd;tUk; tpfpjq;fspy; vJ tpfpj rkkhFk;?  
a. 3 : 5, 6 : 11 b. 2 : 3, 9 : 6  c. 2 : 5, 10 : 25  d. 3 : 1, 1 : 3  
 

11.  If A : B = 5 : 7 and B : C = 6 : 11 then A : B : C is  
A : B = 5 : 7 kw;Wk; B : C = 6 : 11 vdpy; A : B : C – ia fhz;f.  
a. 55 ; 77 : 66 b. 30 : 42 : 77 c. 35 : 49 : 42 d. None of these  
 

12.  If A : B = 3 : 4 and B : C = 8 : 9 then A : C is  
A : B = 3 : 4 kw;Wk; B : C = 8 : 9 vdpy; A : C ia fhz;f 
a. 1 : 3  b. 3 : 2   c. 2 : 3   d. 1 : 2  
 

13.   If 2A = 3B = 4C, then A : B : C is  
2A = 3B = 4C  vdpy; A : B : C I fhz;f.  
a. 2 : 3 : 4  b. 4 : 3 : 2   c. 6 : 4 : 3  d. 20 : 15 : 2  

 

14.  If 
3 4 5

A B C
   then A : B : C is  

3 4 5

A B C
  I vdpy; A : B : C I fz;lwpf.  

a. 4 : 3 : 5  b. 5 : 4 : 3  c. 3 : 4 : 5  d. 20 : 15 : 2  
 

15.  If 15% of x = 20% of y then x : y is?  
x ,y; 15% kw;Wk; y- apy; 20% rkk; vdpy; x : y I  fhz;f.  
a. 3 : 4   b. 4 : 3   c. 17 : 16   d. 16 : 17  
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16.  If x : y = 5 : 2, then (8x + 9y) : (8x + 2y) is  
x : y = 5 : 2 vdpy; (8x + 9y) : (8x + 2y)  I fhz;f.  
a. 22 : 29  b. 26 : 61   c. 29 : 22  d. 61 : 26  
 

17.  If ( x : y) = 2 : 1 then (x2 – y2) : (x2 + y2)  
 ( x : y) = 2 : 1  vdpy; (x2 – y2) : (x2 + y2)  I fhz;f.  
a. 3 : 5  b. 5 : 3  c. 1 : 3   d. 3 : 1  
 

18. Kumaran has Rs 600 and wants to divide it between vimala and yazhini in 
the ratio 2 : 3 who will get more and how much?  
a. Yazhini, 120    b. Yazhini, 60  
c. Yazhini, 180    d. Kumaran, 120  
Fkudplk; & 600 cs;sJ. mjid tpkyh kw;Wk; ahopdpf;F ,ilapy; 2 : 3 
vd;w tpfpjj;jpy; gfph;e;jspf;fpwhh;. ,Uthpy; ahUf;F mjpfkhff; fpilf;Fk;? 
vt;tsT?  
a. ahopdp 120 b. ahopdp 60  c. ahopdp 180  d. Fkud; 120  
 

19. If Rs 782 be divided into three parts, proportional to 
1 2 3

: :
2 3 4

  then the first part 

is  

& 782 – I 
1 2 3

: :
2 3 4

vd %d;W gFjpfshf gphpf;Fk; nghOJ ,tw;wpy; Kjy; 

gFjp vd;d?  
a. Rs. 182  b. Rs. 190  c. Rs. 196  d. Rs. 204  
 

20. A sum of Rs. 1300 is divided amongst P, Q, R, and S such that 
' ' ' 2

' ' ' 3

P s share Q s share R s share

Q s share R s share S s share
   Then P's share is:  

& 1300-I> 
P

Q

- d; gq; F

-d; gq; F
= Q

R

- d; gq; F

-d; gq; F
= R

S

- d; gq; F

-d; gq; F
= 

2

3
vd;w tpfpjj;jpy; gphpj;jhy;> 

mjd; P- d; gq;if fhz;f.  
a. Rs. 140   b. Rs. 160   c. Rs. 240  d. Rs. 320  
 

21. The prices of a scooter and a TV are in the ratio 7 : 5. If the scooter costs Rs. 
8000 more than TV set, then the price of a TV set is  
xU ,U rf;futhfdk; kw;Wk; xU njhiyf;fhl;rp ngl;bapd; tpiyapd; tpfpjk; 
7 : 5. ,Urf;fu thfdj;jpd; tpiy njhiyf;fhl;rp ngl;bapd; tpiyia tpl 
& 8000 mjpfk; vdpy;> me;j njhiyf;fhl;rp ngl;bapd; tpiy vd;d?  
a. Rs. 20,000  b. Rs. 24,000 c. Rs. 28000  d. Rs. 32,000  
 

22. A sum of money is to be distributed among A,B, C, D in the proportion of 5 : 
2 : 4 : 3. If C gets Rs. 1000 more than D, what is B's share?  
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xU njhifahdJ A, B, C, D Mfpa ehy;tUf;F 5 : 2 : 4 : 3 vd;w tpfpjj;jpy; 
gphpj;J nfhLf;fg;gLfpwJ. C – w;F> D – I tpl & 1000 mjpf mstpy; 
fpilf;Fnkdpy;> B – d; gq;F vd;d?  
a. Rs. 500  b. Rs. 1500  c. Rs. 2000  d. none of these  
 
 

23. 20% of (A +B) = 50% (A – B). find the ratio of A and B  
20% (A + B) = 50% (A-B) vdpy; A kw;Wk; B apd; tpfpjk; fhz;f.  
a. 7 : 3  b. 3 : 7  c. 3 : 8   d. 8 : 3  
 

24. Weekly incomes of two persons are in the ratio of 7 : 3 and their weekly 
expenses are in the ratio of 5 : 2. If each of them saves Rs 300 per week, then 
the weekly income of the first person is  
,uz;L egh;fSila thu tUkhdk; 7 : 3 vd;w tpfpjj;jpYk;> thu nryT 5 : 
2 vd;w tpfpjj;jpYk; cs;sd. mth;fs; ,UtUNk thuk; &gha; 300 
Nrkpf;fpd;wdh;. vd;why; Kjy; eghpd; thu tUkhdk; vt;tsT?  
a. Rs. 7,500  b. Rs. 4,500  c. Rs. 6,300  d. Rs. 5,400  
 

25. A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 7. If 
the total amount in Rs. 390. Find the number of coins of each kind.  
xU igapy;> xU &gha;> 50igrh> 25 igrh ehzaq;fs; KiwNa 5 : 6 : 7 
vd;w tpfpjj;jpy; cs;sJ. mjd; nkhj;j kjpg;G & 390 vdpy; xt;nthU 
ehzaq;fspd; vz;zpf;if vd;d?  
a. 200, 280, 240  b. 240, 200, 280  
c. 200, 240, 280  d. 280, 240, 200  
 

26. Find the 4th proportional to 4, 16 and 7  
4, 16, 7-d; ehd;fhtJ tpfpjj;ijf; fz;Lgpb.  
a. 26   b. 28   c. 24   d. 22  

 Solution:  
  4 : 16 : : 7 : x  

 
4 7

16 x
  

 x = 
7 16

4


 

 x =  28  
 

27. The sum of three numbers is 264 if the first number be twice the second and 
third number be one third of the first, then the second number is  
%d;W vz;fspd; $Ljy; 264 Kjy; vz; ,uz;lhtJ vz;iz Nghy; ,U 
klq;Fk;> %d;whtJ vz; Kjy; vz;iz Nghy; %d;wpy; xU klq;Fk; vdpy; 
,uz;lhtJ vz; ahJ?  
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a. 48   b. 72   c. 54  d. 64 
Solution:  
 Let the second number be x  
 First number = 2x and third  

  number = 
2

3

x
 

  2x + x + 
2

3

x
= 264  

  
6 3 2

264
3

x x x 
  

  11x = 264 × 3  
  x = 72  
 

28. In the ratio x% of y to y% of x, its fraction value is equal to  
y – d; x% - f;Fk; x-d; y% ,ilNa Md tpfpj gpd;dj;jpd; kjpg;G  

a. 1
xy

  b. xy   c. x
y

  d. 1 

Solution:  
 x% of y : y% of x  

 :
100 100

x y
y x   

 1 : 1  

 
1

1
1
  

 
29. The ratio of the number of boys and girls in a college is 7 : 8. If the percentage 

increase  in the number of boys and girls be 20% and 10% respectively, what 
will be the new ratio?  
xU fy;Y}hpapy; cs;s Mz;fs; kw;Wk; ngz;fSf;fhd tpfpjk; 7 : 8. 
Mz;fspy; 20% Kk; kw;Wk; ngz;fspy; 10% Kk; mjpfhpf;Fk; nghOJ Gjpa 
tpfpjk; vd;d?  
a. 8 : 9   b. 17 : 18   c. 21 : 22  d. cann't be determined  

 Solution:  
   Boys = 7x  
   girls = 8x  

   7x 
120 110

:8
100 100

x  = 21 : 22  

 
30. The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The numbers 

are: 
%d;W vz;fspd; tpfpjk; 3 : 4 : 7 kw;Wk; mjDila ngUf;fy; gyd; 18144. 
vdpy; me;j vz;fs; vd;d?  
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a. 9, 12, 21  b. 15, 20, 25   c. 18, 24, 42  d. None of these  
Solution:  
  3x : 4 x : 7x  
  3x × 4x × 7x = 18144 
  x3 = 216  
  x = 6  

  The numbers are 18, 24, 42  
 
  
 
 
 

RATIO & PROPORTION – ANSWER KEY 

 

1 2 3 4 5 6 7 8 9 10 

C B A D A A D B A C 

11 12 13 14 15 16 17 18 19 20 

B D C C B C A A D B 

21 22 23 24 25 26 27 28 29 30 

A C A C C B B D C C 

 


